AN
T

M6EE (F48M]) BHETFIFAT7ZIILIEZFIERE FT=E
SM6ES58258 TEH FRERIILIVST #Ha—X

[[[=tivd K4 |3 ouT IN TOTAL & 45z K4 pi |3 ouT IN TOTAL
1 ik KK | BH 37 36 73 46 A 18 5T 45 44| g9
2 25 Mt 5T 37 38 75 47 | thisl #Bi= | &H 44 45 89
3 FE Mt & 38 38 76 48 i FH | HETET 44 45 89
4 gk #% =B 37 41 78 49 $/BK &= | KESF 46 44 90
5 B FE & 41 38 79 50 ALt #35h i=Ean 43 47 90
6 EA 1EA | FEATHET 39 40 79 51 BRER BH fissT 46 45 91
7 HE BEX i=Eia 41 39 80 52 TH JtA HH5 48 44 92
8 HmE BF =B 40 40 80 53 | BEA R L 45 47 92
9 FEE Bz | EH 43 38 81 54 Ho %5 =B 44 48 99
10 47 FEiE | MET 40 41 81 55 ZFHE B | MEh 48 45 93
11| HI BERER | f&S 39 42 81 56 IR H— BH 50 44 94
12 ST ¢ % o HHH 43 39 82 57 KIE BB= | KEF 50 44 94
13 ZR FE =B 41 41 82 58 IRF B2 | #eih 49 45 94
14 T AR i=Fix 40 42 82 59 M| FH HHo 47 47 94
15 ZA =R =B 39 43 82 60 ER HE I 45 49 94
16 Wi PE =B 44 39 83 61 ZH #%H— fiiT 55 40 95
17 £ B i 43 40 83 62 o A i=Fin 51 44 95
18 #BEH HX i=Fix 40 43 83 63 )l E# B 50 45 95
19 EJII B8] i=Fi 4 43 84 64 =H EiH i=Eid 46 49 95
20 MR B faH il 43 84 65 =iy ESE INE 49 47 26
21 hgE B8R | KEF 41 43 84 66 IRT BARK | FEBTET 48 48 96
22 | KX E# i=Fix 41 43 84 67 | =vid B2z | RH 46 50 96
23 2/ FHt i=Fix 45 40 85 68 HIR Eif i=Fin 45 51 96
24 RFT & FEHEIT 44 41 85 69 EM Hi— faH 50 47 97
25 XE #3h i=Fix 42 43 85 70 =H $i7 =B 51 47 08
26 =5 — 5T 39 46 85 71 HE %z faH 49 49 98
27 FE BX BEWL 39 46 85 72 & %X i=Fin 51 48 99
28 B BE HHH 47 39 86 73 AiF B B 46 53 99
29 | AR EER | T 46 40 86 74 HE K i=Fin 44 55 99
30 w8 EE | HHo 44 42 86 75 T2HE i=Ein 50 50 100
31 BR¥ BhsE i=Fix 44 42 86 76 B E— i=Fin 50 50| 100
32 #5 EH fa 44 42 86 77 Bk BE=E & 57 44| 101
33 XiE BEA = 43 43 86 78 =Z%H BB iEia 54 47 101
34 R F_- w3 42 44 86 79 WA R+ =pid 45 56/ 101
35 HH =X i=Fix 44 43 87 80 J\H g3} i=Fin 49 53| 102
36 P 113 faH 43 44 87 81 A Kt BE 49 53| 102
37 T &% 5T 42 45 87 82 | EXJII Al | EFH 48 54 102
38 FH EE faH 46 42 88 83 WWE 2z faFH 46 56| 102
39 KEE ¥ =BHF 43 45 88 84 =A EfE | HaAr 46 58 104
40 HE E—- R+ 42 46 88 85 fhfk Es= faFH 52 53| 105
41 hH E=HF R L 41 47 88 86 ®_BE 5 RiT AT 49 57| 106
42 hH EE i=Eia 48 M 89

43 | TER f#—BB | fEH 47 42 89

44 HRT | Bbb | 46 43] 89| [ FiE | B 27 | g |

45 A BEsh i=Fin 46 43 89




